State Feedback Stabilzation for a Class of Time-delay Nonlinear $Systems^{1)}$

ZHANG Xian-Fu^{1,2} CHENG Zhao-Lin²

¹(Department of Mathematics and Physics, Shandong Institute of architecture and Engineering, Jinan 250014)

²(School of Mathematics and System Science, Shandong University, Jinan 250100) (E-mail: xianfuqingrong@sina.com)

Abstract The problem of global stabilization by state feedback for a class of time-delay nonlinear system is considered. By constructing the appropriate Lyapunov-Krasovskii functionals (LKF) and using the backstepping design, a linear state feedback controller making the closed-loop system globally asymptotically stable is constructed.

Key words Nonlinear time-delay systems, state feedback, globally asymptotically stability, back-stepping design method

1 Introduction

Nonlinear system with delay constitute basic mathematical models of real phenomena and time delays are often encountered in various engineering systems. Moreover, the existence of time delays is frequently a source of instability in some way. Hence, the problem of stability analysis of time-delay systems has been one of the main concerns of researchers wishing to inspect the properties of such systems.

In [1], the output feedback stabilization was considered for a class of time-delay nonlinear systems with delay only dependent on output. [2] studied the problem of almost disturbance decoupling for strict feedback nonlinear delayed system with adaptive L_2 -gain disturbance attenuation. In [3], using backstepping method, the author considered the state feedback stabilization for a class of time-delay nonlinear systems, however, its main result is not correct in general^[4]. So, it is very difficult and much valuable to proceed the stability analysis for nonlinear time-delay systems.

The backingstepping design method is a powerful tool to design stability controllers for nonlinear system^[1,2,5]. In this note, based on the backstepping design method, the stability controllers for a class of nonlinear time-delay systems are constructed. Moreover, different from [1] and [2], our stability controllers are linear.

2 Preliminaries

In this paper, we consider the following single-input-single-output (SISO) delay systems

$$\dot{x}_{i}(t) = x_{i+1}(t) + \phi_{i}(t, \boldsymbol{x}(t), \quad \boldsymbol{x}(t-d), u(t)), \quad i = 1, 2, \cdots, n-1$$

$$\dot{x}_{n}(t) = u(t) + \phi_{n}(t, \boldsymbol{x}(t), \quad \boldsymbol{x}(t-d), u(t))$$
(1)

where $\boldsymbol{x} = [x_1, \dots, x_n]^{\mathrm{T}} \in \mathbb{R}^n$ is the state vector, $\boldsymbol{u} \in \mathbb{R}$ is the input, d > 0 is a known time delay of the system. In this paper, we always denote $x_i(t)$ and $\xi_i(t)$ by x_i and ξ_i . The mappings $\phi_i : \mathbb{R} \times \mathbb{R}^n \times \mathbb{R}^n \times \mathbb{R} \longrightarrow \mathbb{R}, i = 1, 2, \dots, n$, are continuous and satisfy the following linear growth condition.

Assumption 1. For $i = 1, 2, \dots, n$, there exist constants $c \ge 0$ and $c_1 \ge 0$ such that

$$|\phi_i(t, \boldsymbol{x}, \boldsymbol{x}(t-d), u)| \leqslant c \sum_{k=1}^i |x_k| + c_1 \sum_{k=1}^i |x_k(t-d)|$$
(2)

Under the above assumption, we design the linear state feedback controller

$$\iota = \boldsymbol{K} \boldsymbol{x}(t)$$

1) Supported by the "973" Project of P. R. China (G1998020300)

Received May 16, 2003; in revised form April 25, 2004

Copyright © 2005 by Editorial Office of Acta Automatica Sinica. All rights reserved.

such that the closed-loop systems (1) and (3) are globally asymptotically stable (GAS) at the equilibrium $\boldsymbol{x} = 0$.

In the case of $c_1 = 0$ in Assumption 1, [5] and [6] have respectively studied the output feedback control and the state feedback control for system (1).

3 Main result

Theorem 1. Under Assumption 1, there exists a linear state feedback controller such that time-delay nonlinear system (1) is GAS.

Proof. We use backstepping design method to design the controller.

Step 1. Choose $\tilde{V}_1(x_1) = \frac{x_1^2}{2}$; then

$$\dot{\tilde{V}}_1 = x_1(x_2 + \phi_1(\cdot)) \leqslant x_1 x_2 + c x_1^2 + c_1 |x_1| \cdot |x_1(t-d)| \leqslant x_1(x_2 - x_2^*) + x_1 x_2^* + c x_1^2 + \frac{c_1}{4} x_1^2 + c_1 x_1^2(t-d)$$

Let

$$\xi_2 = x_2 - x_2^*, \, x_2^* = -b_1 x_1, \tag{4}$$

where $b_1 = n + c + \frac{c_1}{4} + nc_1 + \frac{1}{2}$, and we have $\dot{\tilde{V}}_1 \leq x_1\xi_2 - nx_1^2 - nc_1x_1^2 - \frac{1}{2}x_1^2 + c_1x_1^2(t-d)$. Taking $V_1(x_1) = \tilde{V}_1 + \int_{t-d}^t nc_1x_1^2(\tau)d\tau$, we have $\dot{V}_1 \leq -nx_1^2 - (n-1)c_1x_1^2(t-d) - \frac{1}{2}x_1^2 + x_1\xi_2$. Inductive Step. Suppose at step *m*, there is a smooth LKF function $V_m(x_1,\xi_2,\cdots,\xi_m)$, and a set of controllers x_1^*, \cdots, x_{m+1}^* defined by

$$\xi_1 = x_1 - x_1^*, \qquad x_1^* = 0$$

$$\xi_j = x_j - x_j^*, \qquad x_j^* = -b_{j-1}\xi_{j-1}, \quad j = 2, 3, \cdots, m+1$$
(5)

such that

$$\dot{V}_m \leqslant -(n-(m-1))\sum_{j=1}^m \xi_j^2 - (n-m)c_1\sum_{j=1}^m \xi_j^2(t-d) - \frac{1}{2}\xi_m^2 + \xi_m\xi_{m+1}$$
(6)

We shall show that (6) also holds at step m + 1.

Let $\tilde{V}_{m+1}(\xi_1, \dots, \xi_{m+1}) = V_m(\xi_1, \dots, \xi_m) + \frac{1}{2}\xi_{m+1}^2$; then

$$\dot{\tilde{V}}_{m+1} \leqslant -(n-(m-1)) \sum_{j=1}^{m} \xi_j^2 - (n-m)c_1 \sum_{j=1}^{m} \xi_j^2(t-d) + \frac{1}{2} \xi_{m+1}^2 + \xi_{m+1} \dot{\xi}_{m+1}$$
(7)

We use (2) and (5) to estimate $\xi_{m+1}\dot{\xi}_{m+1}$

$$\xi_{m+1}\dot{\xi}_{m+1} = \xi_{m+1}(\dot{x}_{m+1} + b_m\dot{\xi}_m) \leqslant \xi_{m+1}x_{m+2} + |\xi_{m+1}| \left(\sum_{j=1}^{m+1} (r_{m+1,j}|\xi_j|)\right) + |\xi_{m+1}| \left(\sum_{j=1}^m (l_{m+1,j}c_1|\xi_j(t-d)|) + c_1|\xi_{m+1}(t-d)|\right) \leqslant \xi_{m+1}x_{m+2} + \left(\sum_{j=1}^m \left(\frac{r_{m+1,j}^2 + c_1l_{m+1,j}^2}{4}\right) + r_{m+1,m+1} + \frac{c_1}{4}\right) \xi_{m+1}^2 + \sum_{j=1}^m \xi_j^2 + \sum_{j=1}^{m+1} c_1 \xi_j^2(t-d)$$
(8)

where $r_{m+1,j}$, $l_{m+1,j}$ $(j = 1, 2, \dots, m)$ and $r_{m+1,m+1}$ are nonnegative constants dependent on c, b_j $(j = 1, 2, \dots, m)$ $1, 2, \cdots, m$).

Combing (7) and (8), we arrive at

$$\dot{\tilde{V}}_{m+1} \leqslant -(n-m) \sum_{j=1}^{m} \xi_j^2 - (n-(m+1))c_1 \sum_{j=1}^{m} \xi_j^2(t-d) + \xi_{m+1}(x_{m+2} - x_{m+2}^*) + \xi_{m+1}x_{m+2}^* + \\ \left(\sum_{j=1}^{m} \left(\frac{r_{m+1,j}^2 + c_1 l_{m+1,j}^2}{4}\right) + r_{m+1,m+1} + \frac{c_1}{4} + \frac{1}{2}\right) \xi_{m+1}^2 + c_1 \xi_{m+1}^2(t-d)$$
(9)

Let

$$\xi_{m+2} = x_{m+2} - x_{m+2}^*, x_{m+2}^* = -b_{m+1}\xi_{m+1}$$

where

$$b_{m+1} = n - m + \sum_{j=1}^{m} \left(\frac{r_{m+1,j}^2 + c_1 \, l_{m+1,j}^2}{4} \right) + r_{m+1,m+1} + \frac{c_1}{4} + 1 + (n-m)c_1$$

then

$$\dot{\tilde{V}}_{m+1} \leqslant -(n-m) \sum_{j=1}^{m} \xi_j^2 - (n-(m+1))c_1 \sum_{j=1}^{m} \xi_j^2(t-d) + \xi_{m+1}\xi_{m+2} - (n-m)\xi_{m+1}^2 - \frac{1}{2}\xi_{m+1}^2 - (n-m)c_1\xi_{m+1}^2 + c_1\xi_{m+1}^2(t-d)$$

Takeing $V_{m+1}(\xi_1, \dots, \xi_{m+1}) = \tilde{V}_{m+1} + \int_{t-d}^t (n-m)c_1\xi_{m+1}^2(\tau) d\tau$, we get

$$\dot{V}_{m+1} \leqslant -(n-m)\sum_{j=1}^{m+1}\xi_j^2 - (n-(m+1))c_1\sum_{j=1}^{m+1}\xi_j^2(t-d) - \frac{1}{2}\xi_{m+1}^2 + \xi_{m+1}\xi_{m+2}$$

Step n. Let $\tilde{V}_n(\xi_1, \dots, \xi_n) = V_{n-1}(\xi_1, \dots, \xi_{n-1}) + \frac{1}{2}\xi_n^2$. Similar to (9), we can get

$$\dot{\tilde{V}}_n \leqslant -\sum_{j=1}^{n-1} \xi_j^2 + \xi_n u + \left(\sum_{j=1}^{n-1} \left(\frac{r_{n,j}^2 + c_1 l_{n,j}^2}{4}\right) + r_{n,n} + \frac{c_1}{4} + \frac{1}{2}\right) \xi_n^2 + c_1 \xi_n^2 (t-d)$$

where nonnegative constants $r_{n,j}$, $l_{n,j}$ $(j = 1, 2, \dots, n-1)$ and $r_{n,n}$ are dependent on c, b_j $(j = 1, 2, \dots, n-1)$ n - 1).

Taking

$$u = -b_n \xi_n = -b_n (x_n + b_{n-1} (x_{n-1} + \dots + b_2 (x_2 + b_1 x_1) \dots))$$
(10)

where

$$b_n = 1 + \sum_{j=1}^{n-1} \left(\frac{r_{n,j}^2 + c_1 l_{n,j}^2}{4} \right) + r_{n,n} + \frac{c_1}{4} + \frac{1}{2} + c_1$$

we have

$$\dot{\tilde{V}}_n \leqslant -\sum_{j=1}^n \xi_j^2 - c_1 \,\xi_n^2 + c_1 \,\xi_n^2 (t-d)$$

Taking $V_n = \tilde{V}_n + \int_{t-d}^t c_1 \xi_n^2(\tau) d\tau$, we have $\dot{V}_n \leq -\sum_{j=1}^n \xi_j^2$. Up to now, we have constructed LKF $V_n = \frac{1}{2} \sum_{j=1}^n \xi_j^2 + c_1 \int_{t-d}^t \sum_{j=1}^n ((n+1-j)\xi_j^2(\tau)) d\tau$ for $\boldsymbol{\xi}$ -system. Since \dot{V}_n is negatively definite, $\boldsymbol{\xi}$ -system under the control $u = -b_n \xi_n$ is GAS at the equilibrium $\boldsymbol{\xi} = 0$. Consequently, the closed-loop systems (1) and (10) are also GAS at the equilibrium $\boldsymbol{x}=0.$

$\mathbf{4}$ Example

We consider the following system

$$\dot{x}_1 = x_2 + x_1(\sin x_2)^2 + d_1(t)x_1(t-d)$$

$$\dot{x}_2 = u + x_1 + x_2 + d_2(t)(x_1(t-d))^{\frac{1}{3}}(x_2(t-d))^{\frac{2}{3}}$$

where uncertain disturbance $d_i(t)$ satisfies $0 \leq d_i(t) \leq 1, i = 1, 2$.

It is easy to see that Assumption 1 is satisfied with $c = 1, c_1 = 1$. As proceeded in the proof of Theorem 1, we can choose $b_1 = \frac{23}{4}, b_2 = 569$, and the control $u = -569\xi_2 = -569(x_2 + \frac{23}{4}x_1)$.

Remark. Specifically, if $d_i(t) = 0$ (i = 1, 2), that is, $c_1 = 0$, we can get $b_1 = \frac{7}{2}, b_2 = 109$, consequently we have the control $u = -109\xi_2 = -109\left(x_2 + \frac{7}{2}x_1\right)$. It can be seen that the gain of the control for the system with delay is higher than the gain of the control for the system with no delay.

5 Conclusion

In this paper, we have studied the problem of global stabilization by state feedback, for a class of nonlinear delay system satisfying linear growth condition. We think there is much work to do for the more general nonlinear delay systems.

References

- 1 Fu Yu-Sun, Tian Zuo-Hua, Shi Song-Jiao. Output feedback stabilization for time-delay nonlinear systems. Acta Automatica Sinica, 2002, ${\bf 28}(5)\colon 802{\sim}805$
- 2 Li Xie, He Xing, Zhang Wei-Dong, Xu Xiao-Ming. Almost disturbance decoupling for nonlinear delayed systems with L₂-gain disturbance attenuation. In: Proceedings of the 41st IEEE Conference on Decision and Control, Las Vegas, Nevada USA, December 2002, 2700~2701
- 3 Sing Kiong Nguang. Robust stabilization of a class of time-delay nonlinear systems. *IEEE Transactions on Automatic Control*, 2000, **45**(4): 756~762
- 4 Zhou Shaos-Heng, Feng Gang, Nguang S K. Comments on Robust stabilization of a class of time-delay nonlinear systems. *IEEE Transactions on Automatic Control*, 2002, **47**(9): 1586
- 5 Qian Chun-Jiang, Lin Wei. Output feedback control of a class of nonlinear systems: a nonseparation principle paradigm. IEEE Transactions on Automatic Control, 2002, 47(10): 1710~1715
- 6 Tsinias J. A theorem on global stabilization of nonlinear systems by linear feedback. Systems & Control Letters, 1991, 17(5): 357~362

ZHANG Xian-Fu Received his master degree from School of Mathematics Sciences of Shandong Normal University in 1999, and currently a Ph. D. candidate at School of Mathematics and System Sciences of Shandong University. His research interests include nonlinear systems and time-delay systems.

CHENG Zhao-Lin Professor of School of Mathematics and System Sciences, Shandong University. His research interests include the theory and applications of multi-variable control systems, singular systems, time-delay systems, and nonlinear systems.